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THE OPEN UNIVERSITY OF SRI LANKA

CERTIFICATE IN ENTREPRENEURSHIP AND SMALL BUSINESS MANAGEMENT
PROGRAMME

LEVEL 02 - FINAL EXAMINATION- 2015

BASIC

STATISTICS & ECONOMICS - MCC 1103

DURATION - TWO (02) HOURS

Date :

28" November 2015 Time : 10.00 a.m. - 12.00

General Instructions

1)

2)

Answer Two (2) questions from PART “A’ and TWO (2) questions from PART "B’.
It is advisable to spend one hour for each part.

Provide answers for each part separately in separate answer books and hand over
them separately.

Graph papers will be provide.
Non programmable calculators are allowed.

All questions carry equal marks.
Part A

(1) What are the basic economic problems faced by economies of the world?
(05 marks)

(i)  Differentiate between Free Market/Open economy and Command Economy ?
(10 marks)

(ii1)  Using production possibility curve analysis show the followings. Use illustrations to
explain your answer.

e Economic growth.
Inefficient level of production. .
e Increasing Opportunity Cost. (10 marks)

(a) (1) Explain the Law of Demand. (05 marks)

(i1) Differentiate between the change in quantity demanded and the change in
demand. (08 marks)

(b)  Using the demand and supply analysis explain the likely changes in the respective
market, under the following given conditions Use illustrations to explain your
answer.

(1) When the price of inputs needed to produce paddy goes up the impact of
that on market for paddy.



(i) ~ When the price of bread goes up market for rice.

(ili)  People expect the prices of motor vehicles to go up in the future market for
motor vehicles.

(iv)  When the price of sugar goes up market for sugar.
(03 marks each)

3) (a) (1) What are the main characteristics of a Monopolistically Competitive market ?
(05 marks)
(i)  Firms that operate in Monopolistically Competitive Markets are “Price

takers”. Do you agree ? Explain. (08 marks)

(b) Explain wheather following firms are “price makers” or “price takers”. Give

reasons.
(1) Biscuit manufacturing firm.
(i1) Small scale paddy cultivator
(iii))  Small scale branded hand bag manufacturer (04 marks each)
Part B
(D) (a) Solve the following equations:
geq
(1) 47x + 256 =52 (x + 1) (02 marks)
ii L -0 03 k
(W) 3x+4  —27x (03 marks)
. 3x%+x '
(iii) =49 (03 marks)
(b) Solve the following simultaneous equations: (04 marks)
y=3x+16
2y=x+72
(c)  Find the solution of x> —x —6 =0 (04 marks)

(d) Ifx =5,y = 2 and z = —1, then find the value of the following expression.
6z3+2x%+y2%-10
(x—4)*+y

(04 marks)



()  The cost of two tables and three chairs is Rs 705/=. If the table costs Rs 40/=

more than the chair, find the cost of the table and the chair. (05 marks)
(Total 25 marks)
2) (a)  An inspector visits a large company to examine the level of maintenance of their

vehicles. The company has 10 large-load vehicles, 129 light vans and 21 cars. The
inspector decides to select a sample consisting of 10% of the vehicles.

(1) Obtain the population size and the sample size. (04 marks)
(i)  Explain how you can pick a simple random sample of vehicles (05 marks)
(iii)  Explain how a stratified sample of vehicles to be made. (08 marks)
b) (1) Briefly describe the four (4) data collection methods used in surveys.
(04 marks)
(i1) Describe an advantage and disadvantage for each method mentioned
above. (04 marks)
(Total 25 marks)

3) (A)  The data for the volume of output produced at a factory over a period of 40 weeks

is as follows.

Production Output | Number of Weeks
(units)

0 and upto 200 4

200 and upto 400 8

400 and upto 600 12

600 and upto 800 10

800 and upto 1000 6

Total 40

(a) Construct the following for the above data.

(1) Histogram (05 marks)

(i1)  Frequency Polygon (03 marks)
(iii)  Pie Chart (07 marks)
(b)  Find the mean output for the above data. (03 marks)

(B)  Plot the graph fory = 4x + 5 (where x values range from 0 — 6). (07 marks)
(Total 25 marks)
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